Paper-Maker Monika Awasthi
Directions (1-5): STeTehRI & &ATTYdeh eI hitord IR e BT T 9ot & 3}

S|

eH oAfFd U UiFd & AT ol IR AT SIAT A IR 3-HT g 9 &1 3T F GIh
Y 3TIT-3eleT TaT 3Tl UTell, &1, J[ellelt, Hiell, AR, STel, |iba, e, STHAT R 8T
qHE 8, ofthet Sl A€ T TAET FA 7 g A ¥ 3 HARE AfFT THgEm &
A feor #7 3R 377G T &

E3R Q& &g IR <FiFd 86 &1 a1 arf E3R a1 & Qufed & 3ifad ©R W 85 g
E 3R Q U g@¥ & [Aulid fqem & 3R 3=q@ g1 C, Sl offel 3T g Il &, T8
afed & 3ifad B wW dor g1 ot <afed &t o W1 96 §,98 D& &1 &l dor gl
T LT TG el alel hfad 3N SHAAT W7 GHe ael aled R & & dlel eafedd 98
gl T O ¥ FfFd Esh 10 =gl 93T g1 S,Eh &0 § g@k T W daT gl S 3
IfFadl 1 Pheds gsE § S dom 3R el 1 e Fa g1 S safaFd e
[T qHE AT &, 98 E & Fehedd 1=l ¢t ¥ 599 cafFd & &7 31 ¥ &, 98 Q
& &% &0 §oT g1 R, Q & fAdwead usidl &1 g1 foF =afFa & g 1 9deg §, 98
B¥ &% a1U JaT g1 THHG T THG ol dlel hfdd & &b a1¢ dar g1 T ar drelm
W qd A& &1 el W qdE #Re gt afFd 3R Ael W7 qdg ae gt cafEa
& ST shael & SfFd 86 §1 P 3R AR W7 THG Siel dlell ehiad Teh gEY & Sl
a7 & &1 B Frem IR dhe W1 wdHe g gl Gfed & 3ifdH s W 38 =giFd
T g & faudie feor 7 3R 3=7@ &1 A af&ior feam &1 3R 377w gl

QL. A = Frafaf@a & @ si9 ar 1 gdg &2
(a) I

(b) IremTsiy

(c) offer

(d) siremr

(e) S8 & IS =TgT

L1Difficulty 2
QTagsLinear seating arrangement

Q2.S & Hegdl H Q &7 FIT TUA g7
(a) ¢ & T
(b) T & T



(c) e & =ter
(d)gId & 9rgar
(e) 318 & FI =Tel

L1Difficulty 2
QTagsLinear seating arrangement

Q3. AFrIfaf@a safFadt # & &la-a1 R & &I gv sor g7
(@T

(b) &7 W YHG el alel ITFd

(c) AT T GHG FeT dTel TTFd

(d)C

(e) S8 & IS TgT

L1Difficulty 2

QTagsLinear seating arrangement

Q4. FFEATIGT & ¥ IR Uh HHg & FFET g, 96 T A il S g &
qFafeT gl 87

@T

(b) B

(c)D

(d)S

(e)R

L1Difficulty 2

QTagsLinear seating arrangement

Q5.P 3R B & 7L fohdel safFd o6 &7
(@) T

(b) et

(c)ar

(d)deT & 38+

(e) IS =&l

L1Difficulty 2
QTagsLinear seating arrangement

Directions(6-7):3ﬁﬁﬁ'ﬁrWWQQHﬁUﬁFaﬁH*WaT&WWI3-ﬁT
Il fgU 1T g1 36 qaUROT & 39 T & Al olelT glam| el 3 qaunrumsit =«
fa AT 3R UG RSD & - g@uRon Faaq 7 d=Red 2



I Q-

(a) IR g qguRoT | AT &
(b) I hael qIUROT 11 3R &
(c) Ife a1 ar 137 11 3idfifed &
(d)afg & ar 131R &7 & 1 3afARa §
(e) TTE 13X Il gt 3afafed &

Q6. FYA: qe s H, TAd ST ¢l 3UTIRT H AR & TIT 39T HH & TAE W 7T W
ugEe & foT 3 g

q;é'?-TI'TU'IT:

LY &7 ¢of died & 3UTIRT H 39eTs YRAG T THATT AT § |

II. hael JoId &l ¢of & FHAT WX doldl gl

L1Difficulty 2
QTagslogical reasoning

Q7. HYeA: "H HAURAT I HRA-HAJBE TR el AT & THE HT IHETIA AT
A" - A, B FldT g

q;é'?-TI'TU'IT:

. - T AT ST Hehl B

ILAH 58 dE & 3CUAT I HId T 9IS &TACT B

L1Difficulty 2
QTagslogical reasoning

Directions (8-10): STleTehRI &1 &ATTYdeh eI HIfod 3N A QT a1w weaAt & 3o
o |

g egidd STall @ YE Bl aTel Sl o & IHeldl-37elT FHEIAl A HIgleld ot g1
Ueh I H -39l TAT I I ol AT H FIAGTAT oAl dTell IiFd arem
T 9 T g1 EXH & 37 T 9red a=cr g1 B # S g1 AR ¢, S
A & I FIGT ST &, 3T I &l Fod o gl Fal A® 9gel 38 I &1l D,
EY S Uge TIGTT Sal &1 DI H YUA TATT UIed Hidr gl ugerm 3R =ter
AT GIed iel Tl ehiard ddT AT 3 GET T WIod e dlel SATFadl & &

AT &1 # afad I i gl

Q8. F=if@d & & Fild W & e TAT 9red AT 872



(@) E

(b) F

(c)C

(d)B

(e) 3573 & FIg Tl
L1Difficulty 2
QTagsPuzzle

Q9. F=ff@a & ¥ g A F Fagrey Jar 872
(@) E

(b) F

(c)C

(d)B

(e) 318 & FIg el

L1Difficulty 2

QTagsPuzzle

Q10. fFe=ifaf@d gow & & la-ar ¥ &7
(a) E- Setall - g@wr

(b) F-ATd- g@r

(c) C-atar - 3dar

(d) B-ggelr - ST

(e) 573 & g el

L1Difficulty 2

QTagsPuzzle

Directions (11-15): fA=Ifaf@d Sl &1 eaeqds egas HfFd 3R A e
AT g & 3R A

P%Q (13)- P, Q & 3aX &I 3R 155 T g = gl

P$Q (17)- P, Q & &f&ror & HR 197 &r gt W gl

P#Q (25)-P,Q & qd H 27 & gt W &

P&Q (12)-Q, P & ufRaar & 1470 i g W I

C%D (13), E&D (10), C$1 (13), I#H (22), F$G (15), F&C(9), B$H (13)

Q11.E & Tesy # 1 forg feem & &7
(a) 3dX

(b) 9T

(c) 3TR-ufegH



(d) 3R-g&@
(e) GiayoT-gfeas

L1Difficulty 2
QTagsDIRECTION & DISTANCE

Q12.F 3R D & ALY #glad gl fohctsll &7
(a) V346 HY

(b) 18%T

(c) 12#Y

(d) 19T

(e) 357 & IS aer

L1Difficulty 2
QTagsDIRECTION & DISTANCE

Q13.G & Ty # H 5w feem & &7
(a) 3

(b) 4

(c) 3aR-9uTegH

(d) eferor-qq

(e) 3R @ HIg =Fgr

L1Difficulty 2
QTagsDIRECTION & DISTANCE

Q14. AT & & Fla-a1 oA v el Y@ A g2
(@ HILG
(b) D,E, G
(c)B,C F
(d)LCB

(e) 3AH T HIS AT
L1Difficulty 2
QTagsDIRECTION & DISTANCE

Q15.F 3R B & ALY wgoAad gl foheel 872
(a) 35HT
(b) 38HT
(c) 32#Y



(d) 395

(e) $TH & s T

L1Difficulty 2
QTagsDIRECTION & DISTANCE
Solutions

Solution(1-5):
Sol.

| | | 1 I | I

I I ' I I Voo i

C E P S D A Q T B R
(Red) (Black) (Yellow) (Orange) (Pink) (Brown) (White) (Green) (Blue) (Purple)

S1.Ans(a)
S2.Ans(b)
S3.Ans(c)
S4.Ans(e)
S5.Ans(d)

Solution (6-7):

S6.Ans.(d)

Sol. That the railway trains are indispensable for people to reach the place on time does not
mean that there are no other means of transport but shows that train alone run on time. So,
[ is not implicit. In statement II, only word is used so we cannot conclude any decision from

that statement, So statement II are not implicit.

S7.Ans.(e)
Sol. Clearly, A wishes to study the degree of effect of pay revision on job satisfaction of
employees. This means that job satisfaction can be measured and A is capable of making

such a study. So, both I and II are implicit.

Solutions (8-10)

Sol.
Month Person | Position
in race

January | A 5th
February | D 1st
March E 6th

April C 4th

May F 3rd

June B 2nd




S8.Ans(b)
S9.Ans(a)
S10.Ans(c)

Solution(11-15):

H 24m I

15m 15m

B C

15m

Sol. D
S11.Ans(c)
S12.Ans(a)
S13.Ans(e)
S14.Ans(c)

S15.Ans(a)

11m

12m

17m




